Model JJ864
Installation Instructions

ASSEMBLY:

Step 1: Connect wheels to the frame swivel on one side, standard wheels on the other. Simply insert the bolts
and tighten up the nuts (see diagram).

Step 2: Connect the rail to the frame and simply insert the bolts and tighten up the nuts (see diagram).

Step 3: Finished

NumisEr| HARDWARE | QUANTITY
1 Frame x1
2 Standard Wheel x2
3 Swivel Wheel x2
4 Rail x1
5 Carriage Bolt x16
6 5/16" Nut x16
7 7/16" Washer x16
8 3/16" Bolt x4
9 3/16" Nut x4
10 1/4" Washer x4

Phone: 800-930-6299 Fax: 800-964-4629 Email: help@SchoolFix.com




